MATH 238 Sochacki Exam 3 e KEY WEST
June 6, 2014 Take Home Part 75 Points (Print) (1 point) ‘

All necessary work must be shown for credit and must represent the question asked. Your work MUST be
NEAT. You may NOT use computers. You may use your notes or text. All work must be your OWN work

done by yourself.
I have neither received nor given help on this exam. D on %}8

(Signature) (2 points)

1. Show that the IV ODE y'=3/1—y; y(0) =1 has two solutions and explain why this is possible. (9 points)
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2. Solve xy'-2y =2x’ sin4x; y(1) =1. (9 points)
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3. Solve y"=8xy'-8x;¥(0) =1, y'(0) = 0. (9 points)
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4. Solve y"-3y'+2y=0. (9 points)
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5. Solve p"+3y*y'=0;3(0) =1, y'(0) = 1. (9 points)
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7. Solve x”y"~2xy'+2y=— given that y, = xis a homogeneous solution. (18 points)
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Bonus Point Problem (10 points): p. 228 No. 11.
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